S = cosA 2} gro] e ArzZiH| =9

@ sinA @SiHB @ cosB @ tanA ® tanB
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1 = — - — o|H 1 = o .
sin B T cos A T JE2, sinB = cos A ©|t}
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AABCOA cos B9l 2 ?
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3. cos60° x tan 60° + sin 60° = AAFSHH?

ov2 @vi 0:2 @22 B 2V3
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the 284 AC = 12¢m , /B = 60°
d o, 2442 ABC o =89] Z4o]

19

@ 12(V2-1)cm
@ 12(V2+1)cem
® 6(V3+1)cm
@12(v3+1)em
® 12(V3-1)cm

grlof thet f57Ee] 37]+= 90° o] B & LACB = 90°
S 12
B = oo = 8 V3(em)
BC = cos60° x 8 V3 = 4 V3(cm)
- (A7 ABC 9] B39 Zo])
=AB+BC+AC
=8V3+4V3+12
=12V3+12
= 12(\/§+ 1) cm




2ol y =mx+n 2 A7} y
x Z3} oFo] ko & o2 7he] 712 4
2ol o off, m Fh& el A2
(D tana @ cosa-sina /
1 cosa 0
® Sil}a sina /
tana
o) _ o EER) o e
tanf = (E\lz] L4) - (xsq %ﬂ%) |(E ]'\:l"l"—’] 7157]”
w2tA 7]1=27] m = tana O[Tt
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8. /C 7} AZRI 277ty ABC oA AB = 2, BC =12 & o,

V2 1+ 2 1+ V3
®_1T2x/§ ®_3\/% @_ !
_|_
- © -
AC=+V22-12=13

(sin B+ cosB) (sinA — 1) = (\/7§ + %) (% - 1)
V3
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EG =42
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AG = 57
afel A
sin x X cos x = > X dn o|c}
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10. o= 233 o] §HxFe] Zol7h5 91 ¢ A

O WHSH=AABC A BC=6<L ], A
sin A o] g7 ‘

D oY of
3 3 57 C
@?\ﬁ ©§ /

A B 20 & dZst= Aol gd5et vt= 82 Ay 2t & of
(A = /A, /A’CB =90° ©]1L
A’B=10
sin A = B = §
A’B




11. o5 #E o]85}9

(cos 55° + sin 56 ° — tan 54 °) x 10000 2] F-= F-5tof =t

2t sin cos tan

54° 0.8090 | 0.5878 | 1,3764
55° 0.8192 | 0,5736 1,4281
56° 0.8290 | 0,5592 | 1,4826

O 26 @ 97 ® 170

@)262 ® 324

B

cos 55 ° = 0.5736
sin 56 ° = 0.8290
tan 54 ° = 1.3764

. (cos 55 ° + sin 56 ° — tan 54 °) x 10000
= (0.5736 + 0.8290 — 1.3764) x 10000 = 262




12. thS I39] AABC oA AHZHH] 9] 2 BT AABC o] Ed)9] dolE

“FobHA?
10
1/ 340
A

Ze sin cos tan

54° | 0.8090 0.5878 1.8764

55° 0.8192 0.5736 1.4281

56° | 0.8290 0.5592 1.4826
@ 5.592 @ 8.29 3 13.882
@®)23.882 ® 29.107

AB = 10 x sin 56° = 10 x 0.829 = 8.29

BC = 10 x cos 56° = 10 x 0.5592 = 5.592

wtatA AABC o] Ed9] Zo]= 10 + 8.29 + 5.592 = 23.882
o|ch.




13. & 139 AABC oA /A = 90°, AB = 6cm , AC = 8cm ,
AH1BC ¥ 1, cosy 2] gr2?

AABH ¢OACBA, AAHC ¢OABAC

T3 BC = V62 + 82 = 10cm ©]B2 cosy = - o[t}

o] w
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15. y = —2cos’x +4cosx +5 7F HAZEZ 7HE o, x o 3L20(H,
0°<x<90°)

@0 @30° @4 @6 O 90

cosx=A (0<A<1)z2sH
y=-2A2+4A+5=-2(A-1)2+7
A=19o, HHF 7S 7IAERZE cosx=1L 0 x=0°




